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Given  a  current density µ ) on spacetime,
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One  more feature -

-

gauge
freedom

.

Suppose w is a  solution of Maxwell 's equations .

Let f- be
any function

.

Then wt If  is again  a solution at

Maxwell 's equations
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These are two faces of the sure solution an  correspond
to a kind of coordinate charge I doit had the to

elaborate on .
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, them

there also exists a solution I with Gut = O
.

We call such a solution a sol in Lorentz gauge .



Harder ( TH final )

We car use this obseuefocn to solve maxwell 's

equations by s dung wave equations .
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Far  a particle of mass m
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Observation: For all matters The ratio Im
,

is

constant, and we can pick outs 80 m  =  me



This is Kwon as the " week ay principle "

holds to are put  in 10
- 13 at least
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the sane acceleration  in a
fixed s r w field
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to - grouchy .

We cannot measure the absolute
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.

( ¥ I left  a IBT ] for Enfield
. )

Moko
= a



of ( x )

2

dffz=g- ( act ) )

→

Now add a monster G = - Ge
,

New path dd¥z= I ( BG ) -Ges
But introduce coeds I -_ Z  

t
Iz E

Go§ # = Blt)ttzGEes
J

"
-

- B
" tGes

= g- ( Blt ) ) -
Gest

Eeg

= g- ( Blt )ttzGEg - Is Ekg)
-

g ( Blt ) -

'

z Gees ) = SCBA)


